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1. If θ = tan―1𝑎,ϕ =tan―1𝑏 and 𝑎𝑏= ―1,then (θ ― ϕ) is equal to 

a)0 b)
𝜋
4

c)
𝜋
2

d)None of these

2. If the (cos―1𝑥) = sin (cot―1 1

2
),then 𝑥 is equal to

a) ±
5

3
b) ±

5

3
c) ±

5

3 d)None of these

3. If sin―1𝑥 + sin―1𝑦 + sin―1𝓏 = 𝜋, then𝑥4 + 𝑦4 + 𝓏4 + 4𝑥2𝑦2𝓏2 = 𝑘(𝑥2𝑦2 + 𝑦2𝓏2 + 𝓏2𝑥2) Where 𝑘 

is equal to

a)1 b)2 c) 4 d)none of these

4. tan―1 (3𝑥 ― 𝑥3

1 ― 3𝑥2) ― tan―1 ( 2𝑥
1 ― 𝑥2

) is equal to

a)0 b)1 c) tan―1𝑥 d)tan―12𝑥
5. If cos―1 𝑝 + cos―1 1 ― 𝑝 + cos―1 1 ― 𝑞 =

3𝜋
4

, then the value of 𝑞 is

a)1 b)
1

2 c)
1

3
d)

1

2

6. If 𝛼, 𝛽 are the roots of the equation 6𝑥2 ―5𝑥 + 1 = 0, then the value of tan―1𝛼 + tan―1𝛽 is

a)0 b)𝜋/4 c) 1 d)𝜋/2
7. If α = sin―1 4

5
+ sin―1 1

3
andβ = cos―1 4

5
+ cos―1 1

3
,then

a)α < 𝛽 b)α = β c) α > β d)None of these

8. Solution set of [sin―1𝑥] > [ cos―1𝑥],white [.]denote the greatest integer function , is

a) [ 1

2
,1] b)(cos 1, sin 1) c) [sin 1, 1] d)None of these

9. The value of tan―1 1 + tan―1 2 + tan―1 3, is

a)0 b)1 c) 𝜋 d) ―𝜋
10. The greatest and the least values of (sin―1𝑥)3

+ (cos―1𝑥)3
 are respectively

a) ― 𝜋
2

,
𝜋
2

b) ― 𝜋3

8
,
𝜋3

8
c)

𝜋3

32
,
7𝜋3

8
d)None of these
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11. If tan―1 (1

3
) + tan―1 (3

4
) ― tan―1 (𝑥

3
) = 0, then 𝑥 is equal to

a)
7

3
b)3 c)

11

3
d)

13

3

12. Cos [tan―1 {sin( cot―1𝑥)} ] is equal to

a)
𝑥2 + 2𝑥2 + 3

b)
𝑥2 + 2𝑥2 + 1

c)
𝑥2 + 1𝑥2 + 2

d)None of these

13. tan―1 𝑥𝑦― tan―1 𝑥 ― 𝑦𝑥 + 𝑦is equal to

(where𝑥 < 𝑦 > 0)

a) ― 𝜋
4

b)
𝜋
4

c)
3𝜋
4

d)None of these

14. If tan―1 2 and tan―1 3 are two angles of a triangle, then the third angle is

a)
𝜋
2

b)
𝜋
3

c)
𝜋
4

d)
𝜋
6

15. If θandϕ are the roots of the equation 8𝑥2 +22𝑥 + 5 = 0, then

a)Both sin―1θ and sin―1ϕ are equal b)Both sec―1θ and sec―1ϕ are equal

c) Both tan―1θ and tan―1ϕ are equal d)None of the above

16. If 𝑥1,𝑥2, 𝑥3, 𝑥4 are the roots of the equation 𝑥4 ― 𝑥3sin 2β ― 𝑥 cosβ ― sinβ = 0, then 

tan―1 + tan―1𝑥2 + tan―1𝑥3 + tan―1𝑥4 is equal to

a)β b)
𝜋
2
― β c) 𝜋 ― β d) ―β

17. The value of cos(2 cos―1𝑥 + sin―1𝑥) at 𝑥 =
1

5
is

a)1 b)3 c) 0 d) ― 2 6

5

18. Solution of the equation cot―1𝑥 + sin―1 1

5
=

𝜋
4

 is

a) 𝑥 = 3 b)𝑥 =
1

5 c) 𝑥 = 0 d)None of these

19. Let cos(2 tan―1𝑥 ) =
1

2
, then the value of 𝑥 is

a) 3 b)
1

3 c) 1 ― 3 d)1 ― 1

3

20. If sin―1 1

3
+ sin―1 2

3
= sin―1𝑥, then the value of 𝑥 is

a)0 b)
( 5 ― 4 2)

9
c)

( 5 + 4 2)

9
d)

𝜋
2
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